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QUESTION 1

Click the Exhibit button. Exhibit:
import sys
from jnpr.junce import Devicse

from jopr.juncs.exception import ConnectError

dev — Device (hoot—"+MM-01', uocr—"bobk’, posaowd—"12347)

try:

dev.opcn ()
except <CHANGEME> as err:
print “Cannot connect to device: {}".format (err)

oyo.cxit (1)
print dev.facts

dev.close ()

Referring to the exhibit, what should be replaced with to correctly print out the exception message Cannot connect to
device?

A. RpcError

B. ConnectError
C. PermissionError
D. CommitError

Correct Answer: B

QUESTION 2

Click the Exhibit button. Exhibit:

JNO0-420 VCE Dumps | IN0-420 Practice Test | INO-420 Exam Questions 215


https://www.pass4itsure.com/jn0-420.html
https://www.pass4itsure.com/jn0-420.html
https://www.pass4itsure.com/jn0-420.html

. VCE & PDF https://www.pass4itsure.com/jn0-420.html
g 2024 Latest passditsure JN0-420 PDF and VCE dumps Download

— PassditSure.com

<rpcr<lock><targetr<candidate/></target></leock></rpc>]]>]]
<rpc-reply xmlns="urn:istf:params:xml:ns:retconf:base:1.07
xmln=:juncs="http://xml.juniper.net/junos/17.1R1/juncs”>
<rpc—error>
<error-typerprotoccl</error-type>
<error—tagrlock-dsanied</error-tag>
<error—-severity>error</error-severity>
<error-message>
configuration database locked by:

user0l2 terminal (pid 80%9%) on =ince 2017-08-27 23:05:25 UTCo, idls
23:05:27

exclusive

</error-message>
<grror—info>
<gsession—1d>8099</session-1d>
</error-info>
</ rpcerror>
</rpc—reply>
11=11=

While using NETCONF, the developer attempts to lock the configuration, but the error shown in the exhibit
is received. The developer verifies no one else is configuring the device.

According to Juniper, how would you clear the error in this scenario?

A. Log in with another NETCONF session, reboot the instance, and save the original configuration

B. Log in with another NETCONF session and enter the 8099]]>]] command

C. Log in with another NETCONF session and enter the 8099]]>]]> command

D. Log in with another NETCONF session and enter the user02]]>]]> command

Correct Answer: A

QUESTION 3

Click the Exhibit button. Exhibit:
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192.168.0.10

iT\"i ,/\[}\\ 192.1‘6_3;0‘100

N ) iz

reqguire 'net/netconf/jnpr’
reguire 'junos-ez/stdlib!

ndev = Netconf::SSH.new('192.168.0.100',
ndev.open

Voot ‘Juniperli® )

You are using RubyEZ to interact with a Junos device: however, you are not successfully connecting to the
device.

Referring to the exhibit, what is the problem?

A. Argument passed to Netconf:: SSH.new statement must be referenced as variables

B. Netconf::SSH.new statement only expects an IP address of the target device

C. Netconf::SSH.new statement arguments must be hashes

D. A Junos::Ez::Provider statement is missing before the Netconf::SSH. New statement

Correct Answer: A

QUESTION 4

You are asked by your manager to automatically switch traffic from the primary link to the backup link on the MX Series
device at the branch site whenever latency is above 300 ms over a 5-minute period. Which type of Junos script would
you use in this scenario?

A. Op

B. SNMP

C. Commit

D. Event

Correct Answer: D

Reference: https://www.juniper.net/documentation/en_US/junos/topics/concept/junos-script-automationoverview.html

QUESTION 5
By default, Python event scripts and SNMP scripts configured on a Junos device execute as which user?

A. wheel
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B. snmpd

C. nobody
D. root

Correct Answer: C
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